/A - ) 2020/9/6 FHR BE P pE AL
RS Al AR TR BB AR S
iR Ed PR = =Rl R AldR AT VRS #hst
ER( il =4 FLORNITE e GNPl Bt 4 ek B o e BB
Af | #EH JiiA 2hr 3hz 441 5hr 6L 7he 8hr
BT ofion | 100m EE BH(1) 12.70 (-0.8)[&3# &A1) 12.87 (-0.8)|5kE A 13.06 (-0.8) A% RER(1) 13.11 (-0.8)[KE EH(1) 13.16 (-0.8)[FH# HEH(1) 13.18 (-0.8) [Tl #EE(1) 1327 (-0.8)|%&5 H¥E(1) 13.40 (-0.8)
% HWE Rk HRE A BIEF H5 AL
of5a | 1500m R EH0) 437.11|7K BEER(1) 4:37.61 (8% BEXR®1) 442188 EFKXA1) 44762\ EB®O) 4:52.12|B#E BA0) 452.12| A FEEE1) 5:04.31|3 FEARER(1) 5:06.61
% Kith Kitt 2EE T8 A tHE il
. ofion | 100m T EAQ 11.91 (-2.3)|/hk BE(2) 11.96 (-2.3)|FEA £RQ) 12,06 (-2.3)|AH EEQ) 12.15 (-2.3)[[R #&h(2) 12.42 (-2.3)|mR E(2) 1243 (-2.3)[ILX EA@) 1269 (-2.3)[ILA HE&(2) 12.76 (-2.3)
HWE Rk BAE A= BT #WERIR HHE &
ofton | 1500m R B 421285 EHEQ) 4:2297(RE HKHQ) 4:24.30| K% 12(2) 4:2465|183F FE—Q2) 4:2748|hE FHE(2) 4:32.66| ARE EH2) 4:34.82 (KR H#Q) 4:35.91
dtwE 2BE Kitt EL LM Kt Ba HH
oftsn | 3000m hE HEQ) 9:4137|HE FHEQ2) 94371 A E#Q) 9:46.49|H1 EKR(Q) 9:46.90 |83 FR—(2) 9:47.16| B ErE RE(2) 9:47.54| 8 #h1H(2) 9:49.35|F £ E&EQ2) 9:57.11
Kith Kith a5 2EE LM EEYE KR T
voEnt | onsn | 200m AR BRQ 2331 (-0.3)[ 48 EA) 2377 (-0.3)| R EZN(Q2) 2430 (-0.3)|FaAR FAEN2) 2440 (-03)|fREME —1B(2) 2446 (-0.3)|HE #(2) 2462 (-0.3)| A XM2) 24.88 (-0.3)| 4L —12(2) 25,59 (-0.3)
Eig HWE P HRE KE a8 JuE HWERIR
05166 | 400m ER £210Q) 5487|8REE —I2(2) 56.97| K7 #i(2) 57.04|EH %32 5857|A1F FEHD) 1:00.17|F S &) 1:00.50 | /& FH(2) 1:00.78| T4 1(2) 1:01.19
b KE & bl 3 & AE HEH
o156 | soom EHHE BEQ 2:10.22 (BRI BEA(2) 2:10.46[XHE #(2) 2:13.98|JI1E FEAL(2) 2:14.06|FTHE EHQ) 2:19.61|{E2K HEQ) 2:2267|H 5 HMEFI2) 2:2329|K3# EKRQ) 2:2348
2BE WP RIR % BE &M Al £ FEHR
os16f | 110mr BiE Ht@ 15.68 (-0.8)[FEA ZAER(2)  16.22 (-0.8)|F& LiF(2) 18.84 (-0.8)| 1L RI(2) 19.16 (-0.8)|¥4AT KH(2) 19.58 (-0.8)| /Wi RE(2) 19.65 (-0.8) [¥AE {Eh(2) 19.79 (-0.8)[EH KE(2) 20.22 (-0.8)
dtwE FWE bl 1E % 2Es ¥ HH FEHR
Ei# 47.03|dt#F 47.30|FHRE 4753 | A RIR 47.64 |15 47.96 3% 48.25| AL 48.33 (£ A 49.18
T4 BAME(2) FH BAQ EoE I -INCD) A HRE(2) Fh EEM) A BEQ) BR 1&—m(2) wx gRQ)
9H6H [ 4x100mR (AR EK(2) BE wt@ A RN R —igQ@ HE &R HE rHE) B AR Kt BEEQ
T EEHQ) HH 5Q) (i - N0 Hip 1BEQ) IR () KE BK() &t #R2) BHE H5hQ2)
BEX BN A K2) 145 EAQ) i %2 HwE BIE2 R RE(Q) MLt %02 KA BEE2)
#E 231 1.55| %8 BAQ) 1.50 AT KHE(2) 145|8K #AQ) 145|118 TD1=(2) 1.40 H BEQ) 1.35
or6n | A T 2Ba AWLF K EE
#]E k&2 1.50 BT B2 1.40
FIs H%t
oiish | e A IAEQ2) 2.20
%It
e pee— HH 5Q) 5.80 (+0.8)| @ ER(Q) 5.76 (-0.7)| KT BH(2) 5.72 (+1.3)|/\Hk RE(2) 5.69 (+0.2) |/ #53H(2) 5.60 (+0.5)| =i BEK(2) 5.57 (+0.9)|Ff5 ThAL(2) 547 (+1.7)|E4t BAQ) 5.40 (+0.8)
dtwE RAE bl RE3 FEHR A AW E i
onien | Zma BB ER(Q) w1222 (30)| KT BHQ) 11.74 (+1.3)[ &t #B(2) wi151 (+30)[ =W EX(2) 11.40 (+1.9)|F8 BEZM(Q2) 10.84 (-1.1) (B8R #5K(2) 1058 (+1.9)[ EE AIAK(2) w1052 (+2.2)| AL BI2) 10.36 (~1.6)
RO E bl AR A ALzF AR T "%
oft6n | R Bl Z—ER2) 892|HA FH® 8053 ME(Q) 787|#AK #—BA) 7.81|#A) #FHQ) 7.35|)II%F ZFEQ2) 7.33|8 23 722|550 KEQ) 717
)RS Ei# F 8 EH EE AILF FEHR E il
ofish | e HIF SR 2290|## WHEQ) 21.92|Mi0 B—EK2) 21.26( A HEEQ) 2081 (/hk —H(2) 20.49|7)I HK(Q2) 2031 () ZF(Q2) 19.66| A M (2) 16.79
twE T BlilE AH A A AW BE
onsn | manss K#HE 2 1646 |4t EH(2) 1446 |43 {Eh(2) 1388|ILAx ER(2) 1373 | FE LFQ) 1188| 7)1l KR(2) 1139|=H &#Q@) 112|EH BEQ) 954
T8 [In}:| At A Es El AE AE
9A5H | 110mH 17.99 (+1.3) 19.84 (+0.8) 19.78 (+0.8) 20.29 (+0.8) 23.06 (+1.3) 20.23 (+1.3) 19.97 (+0.8) 20.69 (+1.3)
950 | i 7.12 5.74 6.55 7.79 7.13 5.26 5.66 5.36
950 | AEmbk 1.50 1.50 1.45 1.40 1.30 1.35 1.40 1.40
9A5A [ 400m 59.85 58.64 1:00.76 1:01.15 58.23 1:02.94 1:06.68 1:10.49
derortem | omsa | 1oom BE E2(1) 13.15 (-1.2)[ KB FE0) 13.46 (-1.4)[BRAe RBH@I(1) 1356 (-0.3)| LA fAKk(1) 13.57 (-1.5)| &R A1) 13.83 (-1.2)[3RA (1) 1387 (+1.0)| &K I12BR() 1396 (-1.2) [ [EK(1) 14.05 (-0.3)
AL EElIES BR FWE E il AILFE % R
w (wind assist) : I8E B
NM (No Mark) : Fedx#EL




A w2 2020/9/6 R i EE dRE 2l
ixsEazd Al AR TR BB AR S
iR Ed PR = =Rl R AldR AT VRS #hst
ER( il =4 FLORNITE e GNPl Bt 4 ek B o e BB
VLT 060 | 100m & B0 w1343 (+3.4)[/hk FIF(1) w1371 (+3.4)|FH £ EA() wid71 (+3.4) (B 2B(1) w14.06 (+3.4)| KT FTH(1) wid.22 (+3.4)|FE LEM)  wid22 +3.4)|/hFk FKR(1) wi4.37 (+3.4)|/NAR BE()  wi4.50 (+3.4)
Rk HWE dtwE = tuE A #HE B
onsit | soom S #&FI(1) 2:27.39("r FEE(1) 2:2944(FE BEF() 2:29.60| F)Il 1&(1) 2:35.13|A& BA®) 2:35.36 il #TE(1) 2:4067| LT #HR(1) 24111 |[RE H#R(1) 2:44.78
KILF ELLES EFA KILF 2BEE & pr ] [
ot s T osi6n | 100m INER HEAC2) 13.38 (-1.0)| F1l () 13.49 (-1.0)| Bl BE(Q) 13.56 (-1.0)[#f@ =(2) 13.80 (-1.0)(lhO H4E(2) 13.86 (-1.0) (% £3(2) 14.12 (-1.0)| =@ HEE((©2) 1412 F1.0)|=2X BE©Q) 14.22 (-1.0)
#ERIR AEFE HWE JtuE BE AL ik ]
ofsn | soom BN —BEQ2) 2:26.52 [FL DLVA(2) 2:28.67|HH FT5(2) 2:29.38|#)I1 BME2) 2:33.35(8K EHEQ) 2:34.37|FRIR /NEE(2) 2:36.82[{&1A AME(2) 2:42.84(3 £ BEK(2) 2:45.89
#WERIR FEER kil HHIE T8 JtuE HH AWE
Lokt |onsn | 200m IR HEAC2) 26.78 (0.0)| LA HH4(2) 27.02 (0.0)|#1fE %£ib(2) 27.55 (0.0)| B {ER(2) 27.67 (0.0)| 4t FiF(2) 27.76 (0.0)|[#AR 4 3(2) 28.43 (0.0)|#ER EHQ2) 28.83 (0.0)| £5T FUH(2) 28.98 (0.0)
#ERIR =R dtwE HRE FWAE A KILF &R
often | 1500m B HRFI() 45488 &M —BR(2) 45589 | £ BREF(1) 4:56.39 [AIE7 1D4(2) 5:04.72[FL VLVA(2) 5:1033|F% T HAQ) 5:14.36|EH FTH(2) 5:15.69 8RR FiETF(1) 5:16.74
A #WERIR E3- 4 2Es FEHR FIS gl A
on60 | 100m Bt REQ 16.01 (+1.6) [#% TEEH(2) 16.04 (+1.6)| KA FEH(Q2) 16.33 (+1.6)| ¥ BZE(Q2) 17.33 (+1.6)| L& HR(Q2) 17.55 (+1.6) [ BRIl #57E(2) 17.60 (+1.6) |4 #32(2) 17.73 (+1.6) [ K% B2 1891 (+1.6)
A AEH EElIE=S KE A HHIt 2ls JuE
HWE 52.02| L F 53.60|FE[E 54.66 | K1LLF 54.77| R % 55.22| AR 55.92| /v 56.12 | FaH 5651
WE HHFEQ EHE 8R0Q) KAR #RE2) h¥ f#(2) HE EZQ2) WA E#Q2) Hih HEE(2) A ##me)
9A6H | 4x100mR |gey fHE(2) HE £ F—h— EEHQ) BR ®EQ #TEERQ) EE HRMEQ) RE #122) He 37(2)
85 EXQ2) &8 HBO EBEH BP0 N mHQ) #85 EPQ MH VIET=(2) XE FEM2) HE REEQ)
At FIRQ) BA RH(2) WK #EQ2) Bt REQ BR BEQ X BEQ BAt FE® I #2)
FLE R0 151|F@A MAZ%Q) 1.51(2FE BIFI2) 148|th3 Viet(2) 1.48| B £Z2(2) 1.40 il BE2) 1.35|RH EE(2) 1.35
osier | Ems tHE & BE AR s EHE HH
X 252 1.40
VAR
e pee— B £t 5.10 (+0.8)|# £ #%(2) 482 (+0.5)|#8F ER(Q2) 476 (-0.2)|FE HMH(Q2) 474 (+1.)| KRB EE(Q2) 441 (+09)|£FH EEQ 4.35 (+0.5)|fREA FE(1) 431 (+1.3)|RA REQ) 4.29 (+1.0)
AL £ HRE 155 A &H KR KE
onen | mie INERR Q) 9.93|A BH(Q) 882|RiE (2 8.53|BER HZF(2) 806|&:E AEQ) 802|HRE HRQ2 801|[RAX HRQ) 782|EE BRE(2) 7.81
s s bl Bla FH BE JtwE A
onsn | mame RE F(©2) 2547/INERR BRQ) 2281|B&R H#HEHFQ) 21.62|AL EHE(Q) 21.43|2% AEQ 2072|142 FAZEFQ) 18.76|# R HR(Q2) 16.87|#1L 3RFR(2) 16.26
bl s HE K FH e R AWLE
onsh | mamssE Bt REQ 1984 (43 V73t=(2) 1868 (LA #3FE(2) 1853|18ME #A(2) 1802|#R B2 1755| = E2(2) 1490|NfE A2 1341 (4R V&YQ) 1096
Al AWLE EE [1N]::} BE [1N]::} A AL
9A5A [ 100mH 16.40 (+1.0) 17.61 (-1.1) 17.32 (-1.1) 18.42 (+1.0) 17.48 (-1.1) 19.92 (-1.1) 19.74 (-1.1) 18.83 (+1.0)
950 | Ampk 1.35 1.48 1.30 1.45 1.25 1.25 1.25 NM
950 | L 6.84 5.57 6.44 7.55 7.23 6.29 5.88 6.21
9A5A [ 200m 29.29 (-0.2) 29.80 (-0.2) 28.60 (-0.2) 30.91 (-0.2) 29.71 (-0.2) 29.30 (-0.2) 31.32 (-0.2) 31.14 (-0.6)
sttt omen | 100m K OBf=(1) 1422 +0.8)[BX (1) 14.39 (+0.8)[LUA #h(1) 14.43 (+0.8)| E42 S5(1) 14.44 (+15)| &L BEQ) 1452 (+0.8)[EH AZE() 1455 (+0.8) (M@ Fin(1) 1462 (+1.5)| Rk =B(1) 1477 (-2.3)
HRE ALF A F AL dtwE &R dtwE

w (wind assist) : JBEZ %
NM (No Mark) : daiEL




